
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Wednesday, 11/8-1
STEP +, continued

From now on
,
for Sel

, we write of Rels) and
t= [m(s)

, so s= o+ it .

Theorem 13
.
4 lupper bounds for 31s) and 3's)1.

=M-O such that
,
for all the and osI

13(s)) : Mlogt and 3%s) ! Mlogt .

Proof.
First assume o 2 and the . Then

I13(s)=
= 3(21=3(2)lgt,

and similarly , since Minil] An,
&

15'ks) :

n = 1 Minin - 3(2) = 3(2) logt.
So take M = 3(2) ·

Now
suppose

15 Ch and the Note
first that

Isl = ox it < oxt2+t t+t =ht
,
and

S - 1 = o + 1 + it = 101/t2t
,

so that



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


